L\

,_
"
e

3. Wlﬂé‘rﬁmﬂiﬁrﬁmﬂﬂ’é‘rﬂéwﬁ%ma

cdor s o T A e A fam i e

¥ m&m%:ﬁwwmﬂ:ﬁﬁwﬂuﬁqﬁﬂﬁ
T HECT &7
(1) werTeT 1 Feeemas
(2) ST W WD
(3) WERIIT HI GUTT
(4) TS HT TETEAT
(5) 3T 8 A A
2. frefatas & I ofc I =t gRfere &1 ¢
I o
T & A T A
B. agam I e
Cery i L. frer (@)
D. HwaEr IV, e

(1) A-TII, B-I, C-1I, D-IV.
(2) A-IL, B-I, C-IV, D-II
(3) A-III, B-II, C-IV, D-I
(4) A-TI, B-I, C-III, D-IV
(5) ST I T A

FT“!—I i i | ﬁ!‘qﬂ i 1

A, wresipr ]

1y
B. ¥ uwr \i“]i
C. 7pd

D. o9
(1) A-1V. B-I, C-IIL D-II

(2) A-IV, B-L'G-II, D-ITI

(3) A-L B-1V, C-IIL, DI
(4) A-IV, B-II, C-I, D-II .
RORIS AR

4. Wﬁ?fﬁmﬂﬁﬁ?mﬁaﬁ‘mﬁﬁmaﬁmﬁi%—
Mamt

' (3) o
(5) ST Tt 2wt s

-y G

Al

3.

2.

4,

or changes the direction of light that falls

e t This change of direction of light by a
an i
mirror is called?
?iJ;rDBplacgment of light .
(2 Seattering of light X
(3) Refleetion of light
(4) Revetsion of hghf |
(5) Not empted Fg‘
Match the foliowu&g 1 m& m:
l - =_ll

Name of the r

Organism
A. ‘Human being I
B. Earthworm 1. Iungs
c Imecfs' : M. Gills E
D. Fish | IV. Skin -

(1) A—I[l BI C-1I, D-1V
(2) A-TII, B] C-IV. D-II
(3) A-II, B—H}C—I\", D-1
(4) A-II, B-1, C-111, D-IV
(5) Not attempted

\{at(,h thc items in column-1 with those in
i e ¥ Golumn—ll
2 Salivary glabd I’" Bile juice

“B. Stomach . Insulin
ST T R ]11." Hydrochloric Acid
D. Pancl;ea.s _ IV. Amylase

Choose the correct option :
(1) A-IV, B-J, G-I, DT
(2) A-IV{B-I, C-II, D-II
(3) A-IL, B-IV, C-III, D-TT
(4) A-IV, B-III, C-I, D-Il
(5) Not attempted

The process of loosening and tuming of the
soil is valled —

(1) sowing -

(2) harvesting

(3) 'winnowing |/

(4 tﬂ]mg

(4) e
IKSHR /X3 /Page 2
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(5) Not attempted 3




(2) ga = FarereT T
ks visreT BT

(3) gu @y @l Z
gﬁsﬁﬁ T 10

4) 78 #:

@&l '
(5}3;,-;#?%?161‘5% .Lﬁ
)

&l &

Y

) = [
() @frst =i : (o
(3) WA _ -
(4) gdl :

1

8. ﬁwﬁaﬁaae«a@m_mm%&‘m%e
(1) YZid @l arsdimee - 'Pﬂﬂ

'-' (2) ety I § S S B

(3) SETST B EE ST AT
\\;‘ (4) v @ a  wiead b

' E(S)G’ﬂ'{?ﬁﬂﬁﬂrﬁﬁ

(1) faers a ammq -f':

W BNt o 81 ¢ @ 30
() 38 %t wrm 7’0"C“Tq'mf:f it ©rt 331

o ﬁﬁaa‘aﬁnﬂaﬂm
mmﬁ‘" H—8R 531

oocmmw I
ﬁmﬁﬁﬁﬂwm

Weﬁhﬁmaﬂmgﬁﬁhﬂ

6. ﬁmmwﬁaﬂﬁq%"ﬁa%mm ;

'\ .,-s a%mwmﬁm%ﬁﬁﬁmmt?

”W%ﬁﬁﬁmu@ﬁﬁmﬁﬁa

—

2 m_mm / SPACE FOR ROUGH WQRK

Pasteurisation of milk isg -
(1) Heating of milk to about 70°C fa
30 seconds and then slowly co

and storing. ‘, ,‘
(2) Boiling of milk and lgwn slowly
it and storing. (6]

(3) Heating of milk to@bout 70°C {
30 seconds and thédfisuddenly ¢

" and storing.
(4) Boiling. of milk and then s
chilling it. >

(5) Not atiempted ﬁ

Which of the fallomigg food ite
blue-black colour with“iodine ?

(1) Starch i
(2) Minerals

(3) Protein

(4) Fat -
(5) Not atiempted ||~
. n-‘
Typhoid is caused by —
(1) Bacteria £
(2)_Virus &
(3) Protozoa 3
(4) Fungi

5) No_t attempted

()
Conaensatmn is the p'r@:ess of —
[4h) Evaparatmn of petro
(2) Separation of sgﬁd from w

decantation s
(3) Conversion of watér-vapour into
form

(4) Conversion of water into its vg
(5) Not attempted ch

Large scale storage of grains is dor
(1) Silos and granarics™

(2) Jute bags ;

(3) Jute bags and mqgﬁic bins

(4) Metallic bins

(5) Not attempted




11.

12.

14. Frfeias & § s toEEee ¥ 2

: 2 Ry &L _
gl i —

a1 AH én?m

A. =M 1 {

B. =Ba [, X

C. war T, e

D. V. weT

(1) AL, B-IL c-I, DTV

(2) AL, B-11, C-IV. D-1

(3) AL B, C-IV: DI

@) AL BV, c-I11, D-1I

(5) wat T & =[TEq

e T ¥ e T B AGA B G H
e Ll Tt w ¢

(1) @wd

(2) @A

(3) B GH

(4) s

(5)3ﬁ1=|ﬁa=ﬂmgﬁ
Waﬁmaﬁ@aﬁwm-{&
| B

(1) S0 &

(2) 3078

(3) 40 & -
(4) 25 &9 i
(5) weT i & A

Sy . et € S

ey A Bl

) S % T &1 e B od el
- (3) & wEE @ @O H A

(4) o mUS BT A ¥

(5) T = A =@

(1) s

(2) Hewfn o

(3) wieehmgfis

(4) difegn FEhe
(5) THT & T =y

15, v e # P ofres A0 | 15,

T ) 3
el el

(2) s

(2 e

() it C R ol K

following

. Mﬂt‘(‘f? :]l:‘[:un 1 Column-1]
(1] =1 ,
Name of tHe Movemen
AA\!;licmsll I Swim
Q' %?she 1. Slither
C. Bird : i g\:alk
D. Co 3 V. Fly
(1) A-I1, B-II 1, DIV

_ Dark coloured objects absorb™
than the light coloured objects
(1) less
(2) equal
(3) very much 1ess
(4) more :

(5) Not attempted

. The minimum distance required by a1
human eye to see the objects clearly

(1) S0 em 2.7
(2) 30 cm

R(3) 0 cm S
@) 25 om Y
(5) Not attempted

13. Pathogens are microbes which & - i

(1) Cause diseases |

(2)- Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

{4. Which of the following is an antik
(1) Alcohol .

(2) Sulphuric acid ‘

(3) Erythromyein

(4) Sodium carbonate

(5) Not attempted .

Anodising is a process of formin
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold

(4) Copper

(5) Not attempted
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in-T1
nent

B heat

r

{ normal

otic?

g T
16, efxamon & wrEe et % g

aed 7

(1) 472 &L

(2) 528 =&l

(3) 452 8L

(4) 521 7Y _
oAy e wre?

(5) s9t

17, ané s o 2 s
(1) @t
(2) HEIA
3) T

4) feart

(5) et 1 o e

18. Preffae & ¥ H TRETIT & YT GEAEAT 4 7
(1) ssft o
(2) waq a9
(3) w9 s e

i 1

) e T e

19, weEE ¥ 9 95 FEET SR £ uh
A ¥, qEU SH D W67
(1) g, e
(2) =t &=
(3) FTEwI
(4) omf ®
(5) wat T8 T e

= vy F R () ATt feehie |
e B 7

17.

18.

19.

20.

}-;;%Tz‘i%%& O

| sPAGE FOR ROUGH WORK

., How1

mber of canals are the

many total nu . ;
System' 1n Haryana?

under '"The Bhakra
(1) 472 Canals
(2) 528 Canals
(3) 452 Canals
(4) 521 Canals
(5) Not attermnpted

Where is 11T, Haryana located? °
(1) Sonipat

(2) Karnal

(3) Kurukshetra

(4) Hissar

(5) Not attempted

Who amongst the following was the f
Chief Minister of Haryana?

(1) Bansi Lal

(2) Bhagwat Dayal Sharma

(3) Rao Birender Singh

(4) Banarsi Das Gupta

(5) Not attempted

Fatehabad, is home to two very importz
monuments. One is The Lat: which is t

other pne?

(1) Humayun Mosque
(2) Dharamkshetra
(3) Banawali

(4) Arjuna Sthal

(5) Not attempted

How many (approximately) Commun
Development Blocks does Haryana Sti
have?

(1) 90—110

(2) 110—130

(3) 130140

(4) 8090

(5) Not attempted

e ———

P



e following gtatements -

'ef'l ] ; S
21. Conside e 8 Administrative Divisions i,

nai’-‘iﬁﬁ“"i‘ Haryana: B vt
gt & k< | T of the Administrai
B Parncrh_ku_lﬁ._ e v

) o | o aa B D M?'i ﬂsagove gtatements is/are correc
A ; which o JE = .
‘1 !

©) Not ! empted

N
‘share border

which ()11@_}5»{' the 1‘ullowing}?¥ i

(1) Mahepgdragarh

(2) Thajjar;

(3) Hisaren

(4) Bhiwdii

(5) Not dttempted

fapgen L
w2 | 22- Charkhi Dadr does mot

93. Which is the state flower of Haryan
(1) Dahlig~
@) Tulipy o)
(3) Lotus
) Mari-g&'é‘lﬁ
(5) Not :ag%mpted

i4.g&mmﬁgwﬂ3ﬂam-ﬁmmﬁﬁaa&gaa‘?r W
. 24, In which year was the Pradhan Man

T A7 - |
(1) Si?ﬁﬂ' 2018 Yojana launched in Haryana?
(2) 250, 2017 (1) 8% Apil. 2018 |
(3) 108, 2011 | (2) 251 Eebruary, 2017
(4) 8 \?’:ﬁ’a 2015 : (3) 10% March, 2011
(5) SRR & e ((:) 8t April, 2015
) Not attémpte
25. A W B AHSA BEl K7 : %mmd
() | 25. Tomb of Torah
(2) ai" iy > Y rahim Lodi 1 1
(3) W (1) Panipat 1 1s locatec
@ P (2) Kaithal’
o () Mhaiit )
(5) THTHE T T . a)aln
~ B W Bhiwani

(5) Not affempted

e A TSR

7 g
% f¥T %I / SPACE FOR ROUGFWORK
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[ ih
tive

ect?

vith

ira

< Wﬁ%‘fﬁﬁﬂ‘{ BT,

28.

29.

A, TETDH
B. %WW%TWW%HW
FrisondE A,
fr&aﬁﬂwﬁamv@’%ﬁ'?
(1) %aw B vy
2) A ik B @0 v
(3)=1Ae?r(=t‘3rB & £
@) Faw A S
- (5) ST & T = (=

26. %?ﬁﬂ: ydes Hal & gaﬁ--ll 61?1
‘ﬂ‘:ﬂ—l e

v W

Q. e T b ﬁfﬁ
C. waf® i

, o e CDEl
%gﬁﬂgﬁ ﬁﬁpﬁf’:ﬂaﬂ?‘ﬂﬂ S

(1) A-TV, B-1L JLV’. D1
2) A-LL gt Sy
3) AL, BL c-Ik ¥y

((51) A-l B-1L. ol D-IV ¢y

(5) weT @ T e
¢t

a1 TS (@Wﬁ)%@aﬁﬁmﬁf@ﬁ
e
S ware giad 99 l

(5) S T &

g
& =T o)
i

i e shammeh 6 foe o
@y

26.

Match List-1 Tourist Centres with List-11 th

location.

List-1 List-11
A. Sky Lark 1. Hodak >
B, Damdama 1I. Gurgagn
C. Dabchick JiI. Uchana
D. Karna Lake 1V. Panipat

Choose the correcl answer

from.the op!
given below - -

(5) Not attempted

27. Consider the following statements injJ
of the National Security Guards: (NS
A. It is one of the Central /—};ﬂ:gled
Forces. Y e,
B. It comes under the administrative
of the Ministry of Defence, Govt

of India.

Which of the above statements 't‘s?ﬂIe
(1) B only Ley
(2) Both A and B 7y
(3) Neither A nor B ot
(4) A only &
(5) Not attempted =y

28. What is the approximately ptopu
Haryana?

(1) 2,00,00,000 —3,00,00,000

(2) 3,00,00,000 = 3,20,00,000 &=
(3) 3.20,00.000 — 3,50,00,000
(4) 1,50,00,000 — 2,00,00,000 ¢y
(5) Not attempted =y

35— WHCH T KAOWIgs the "Ches
Haryana"?' e
(1) Kosli s
(2) Chhachhrauli
(3) Rewari

(4) Thanesar

(5) Not attempted

50

o

30. The ancient Fort of Madhogarh
which district of Haryana?
(1) Hisar :
(2) Jhajjar
(3) Mahendragarh

FTAR

(4) Sirsa
(5) Not attempted

St
5 ard 3 fig @I | SPAGE FOR ROUGH WORK




32, waferer deem qen g A fedy ¥y S

33. Preififaa w93 frare HivT

34, QW e AR HEAT A e s

35. fawer

IKSHR / X3/ Page 8

(dﬁq’-ﬂ'ﬁ’f &) % @it A
= g T TS .

A. mﬁ%ﬁwaﬁmﬁ%ﬁwéﬁﬁ

B. mﬁﬁéqﬂﬁﬁgﬁuﬂgﬁﬁ e Y o
J iy &l et

Wﬁ‘ﬂ*ﬁﬁﬁaﬁqwﬁﬁuﬂaﬁ%f?f

(1) sae B

(2) A ofT B &l

(3) T AsItaE B

(4) waw A

(5) See € A7

mw%gﬁwé:ww#‘cmﬂn'wn%qm
grERTt g fear 7

(1) & =herdy &4 e

(2) #ir 9= @I

(3) ufse e

(4) & zsfw e S

(5) Tt FEN 31 =@Ed

A, &S =FETn TsE &) sy Wl Bl
B. o 2010 ¥ dsmer ® samn @l AEeE
9T ] ot YEM fhdl Tl

EEk e o A 7 s T
(1) Faq B y ¥
@) AdTBER | o0
(3) 5 31 A St A8 B
(4) Fam A 4
(5) T=T A& &1 AR

WE Il

el Rag &7
(1) T=gHar
(2) FT

(3) oI
(4) wlerEg
(5) SET T < AR

@l Tpe fesm o =R 1o
T k7 _ T STTeBtiee

(1) <hagor

(2) 7

(3) ulyas

(4) W

(5) SoT T T Ay

he following statem
Pomestic Product (C
of, Haryana is more {

31, Consider {

Gross Staté

A. QSDP

B ElShE}:P of Haryana is more 1
" Uttarakhand. :

Which of the aboye statements 15/

(1) B only =

(2) Both A and B

(3) Neither A nor B

(4) A only k.

(5) Not attempted }_Jq

332, For recognizing Lhc“r,-je__:.ffor'
environment conservation and
Government of Haryana has"in
award in the name of @

(1) Shri Chaudhary Devi Lal
(2) Shri Bhajan Lal

(3) Pandit Jasraj ‘

(4) Shri Darshan Lal Jam

(5) Not attempted

33. Consider the following staten

A. Hindi is the official langu
Haryana.

B Punjabi. has been accorde
an official language of 1
year 2010. ]

Which of the above statement:

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

34. Where is former Indian
Virender Sehwag's Cricket A
(1) Panchkula
(2) Thajjar
(3) Gurugram
(4) Faridabad
(5) Not attempted

35. Haryana does not surround
which side?
(1) South
(2) East
(3) West
(4) North
(5) Not attempted

T % % g e /

e R e =
SPACE FOR ROUGH WORK



latements

a
uct (GSDp) P_‘“Lq
iore than 1],

wore than thag o

its is/are
ts 2 COrrepyy

L]
=N

Efoﬂs towardg

mnd pmmotlon
GCCd the

al

nents :
uage of

i the status of |
aryana in the

is/are correct?

it Cricketer

:my located? a

hi on y

at Of

37, Pt ol

aqzjaﬁﬁﬁ
U)Bﬂﬁﬁ

(Q)AG?R‘BW
(B)ﬂa‘rAaﬁ'{q'@rB
@) A %

(5) oot @ & e

38, F& G wE Rag el

(1) ®aETE
@ %ﬁ"‘ B
(3) feurR
(4) fawa :
(5) ST wEf AT =Ed

39. qﬁi@faﬂ@u’rﬁsmaﬁﬁﬁa@aﬁm%?

(1) fHemaSil
(2) B
(3) 9Tl He

(4) gaeel
(5) ST T & inﬂ%

4.0 iﬂaﬁ?ﬁ wnmmwaﬁ%?

(1) ST

-.&2) SiiE
"'(33 T

4)a1ﬁﬂfm

ARG

36. Which of the following is NOT a pi

traditional attire for men in Harya
(1) Kamri

(2) Dohar

(3) Sopali

(4) Safa

(5) Not atternpted

37. Consider the following statemen

A_. There are five Police Comm
in Haryana.

B. Faridabad has a Police Com
located there.

Which of the above statements i

(1) B only

2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

38, Where is Brahma Sarovar lo
(1) Fatehabad
(2) Kurukshetra
(3) Hissar
(4) Sirsa
(5) Not attempted

39, Fomous sportsperson Yog
associated with which spor
(1) Shooting
(2) Wrestling
(3) Javeline Throw
(4) Boxing
(5) Not attempted

40. In the dance form 'Loo
means? ;

(1) Ornament

(2) Music

(3) Crop
- (4) Girl

(5) Not attempted

% %7 % fve W / SPACE FOR ROUGH WORK



43,

SCal
41, 20% far 10% * A i I3 % g T

qET B

(1) 25% .

(2) 28% ,Lf,;

(3) 27% o

. [4: o)

(4) 30% ¢

o
(5) waT wE & A

(% 8}

- )
42, are warTa dengy A, By € & D @l e

Aq_s%lﬁwaﬁerﬁwwﬂm’?

(1) 2450 fes
(2) 2352

(3) 2550 )
iy
(4) 2499 £t
o

(5) weT A SR
ap
ﬁw-_

7 8000 @1 Tf1 s%mfﬁmaaﬁr@m%at
a7 Rre ad # (%9261 B ST, Stakh s

1) 3 ol
(1) .
. &
N = i
()5 o
ey
: (T,
= Fes
®): %3 &
e

(5) wre 7 & e

41.

42.

43.

The single discount equivalent tg tiwg
eessive discounts of 20% and 10% i,
S G :
(1) 25% WY
(2) 28% gt
1748 e :
@) 27%
(4) 30%
(5) Not attempted
Ly i
(v -

The average of four consecutive numbers A,

[ 1 T ! SF 3 |
B, C and Dris 49.5. What is 111er..--p1-pdu£t o
B and D?

(1) 2450
L
S

()

(2) 2352
@3) 2550

1
£y
r“_") i

(5) Not aj;@:ptccl

(4) 2499

In how marnyyears will a sum of X 80(

at 5% per compound interest,

compounded.annually becomes Z 9261’
e
(1) 3 peed

[r

2
2) 4=
Qe ;
@3
Y
L8]
=
3
£y

() 3

1
# 3z, @
BN

(5) Not attempted
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RO W
10°%; ig .

Linlbt:rs A,
woduct of

8000

112

hama« H%
3) 24><34><55x7><11

(4) 10,010
(5) S CFalll G

3233555, 27 <A

24 3% v 5% 7% x11 @ HCF ¥

) 22><32><5><7><11 .

rjn .”! ’E Fxfal

@) o x34><55 0

(4) 2%x3° x5
(5) SuT e & e

79,30 S fecta A T A G o wwR
% VE F 8:7 % orgyr A fawman TNl A e
1 qea 3 10 wf Reeoms &, o TE 9ER % K

7 e wfel b @ T
(1) % 10.60

(2) 7 10.80

 (3) 2 11.00
@) 71030
) T e

¥ ' En oGS

44, The smallest 5-digit numb
divisible by 12, 15 and 1

(1) 10,015
(2) 10,020
(3) 10,080
(4) 10,010
(5) Not attempted

45, The HCF of 22 x3%x
and 24'><34><5x72x1
(1) 22x3%x5xTx11
) :24x34-><55

(3) 2% %3% x5° x T x]

(@) 22 %32 x5

- (5 Not attempted

46. Wheat at ¥ 9.30 per kg
quality of wheat in
mixture so formed b
what is the rate per k
of wheat?

(1) X 10.60
(2) ¥ 10.80
(3) T 11.00
(4) 1030
(5) Not attempted

< @ % M W / SPACE FOR ROUGH WORK



48.

9. o Qkx<l ¥ & fra ¥ 4 w81 § =

M _'éjb-cd
4 =5 —»

(5) wux @ AT aEd

Pt TIRT @ 3:5 % orgid | fersiover ot Tl
ofy o7 ww R 75 ¥, qf <O E
(1) £.430

2) % 150

(3) % 240

(4) T 120

(5) T TE &0 ArE

s

TE R

"

(1) 152

1
@)

(3)

E 'l
Y
38
17-2”
x

(4)x
(5) TET T A wmed

that must be added 1o eqq, 1.-.
.Thcﬂb wgettharatioc'dl'
of a:
ad+be SRS
@ “eid ‘
g
® ~A-d
abi=cd. -
@ i

(5) Not attempted

=

48. A certain sum is d1v1de€°l in the rati(

If the greater part is T ?S then the su

@ « 130
(3) % 240 . A
4) T 120

(S) Not g_a.ttempted )

PR

E <

49. fO<x < 1, then the greatest numbe;

the followmg is :

1) 52 |
1

@ =
3

®3) -
e

@ x
(5) Not attempted

IKSHR / X3 / Page 12
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=

1 AP
| L;ﬂ:ﬁ 5wt x | 50. A can complete ofafprk in 5 days an
50. A TH HE Bl S
3 (5 o) b
.2_:—' 10 f & @ - B can complete 7 of,:.t:;f;e same work i
B St L = o 10 days. In how many _Adéifys both A and ]
awar &1 A Tar B 7 ff SRS together can complete the work?
fope fm & S 5 RS A )
: W . O~ =
e 5
W)tz Y )
. 3 e
v ) < &)
@ % = | & =,
' 3) 10 s
3 10
iy l
1 i : T— &
@ 75 n B =
2 93 1] . e
; X i (5) Not attempted 7,
(S)Waﬁfim‘aw& oy 408 did i
AR ?.*-‘_*.-)._._-'.."‘ N &
' .' ?:J SR S V51 A motorist travelled iéFween two town:
ud AL d1ED, al TEd. o A @ gl which are 65 km apart, in 2 hours 10 minute:

SIS

ng

0.

The speed in meters per minute is:

65%%.%%%%&2%10%2@@

& wad R e o fEed (1) 500

(1) 500 R (2) 600 =

(2) 600 ((Z)) 7223 Vo
i

L, : Q (5) Not attempted -

(4) 200 < —

M

(5) wwC T8 A A :
' 52. A and B started 2 business by investi

7 85,000 and 2 15,000 r§§pectively. In W
ratio, out of the following; their profits v

A e B & w2 85,008 2 15,000 €
be divided after one yeagi;‘f_

WWWW|®.ﬁﬁsaﬁ,%ﬁﬁ%

By orgere A e A E T 1) 3:5 —
(1) H : @) 153
(2).15:3 e :
(3) 17:3
(4) 3:4 (4) 34
- (5) wHE W€ & qred (5) Not attempted
__-.__--__—-_.___._-_____________._ %
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2x

=

© S5 = ¢
s op FrileT
2x__9 i
X ___-—+"""__2
S o -0 Sl os a) 2
(1) 2 @) 3
@ 3 3 4 e
e
(3 4 @ 1 mﬁ_
@) 1 (5) Not aﬂempted
(5) ST T &
bes of edge 3 cr
‘4 3 44 | 54. How many CcU )
54, 18 &h 3T I UH T D " W N out of a solid wooden cube of
ot R fee W & o g &7
1) 216
(1) 216
@) 6 Q) 6
(3) 218 @3) 218
@) 36 4) 36
(5) suT 78 & =Ed (5) Not attempted
5. 9% 3=1732 9 V2=1414 £, @ |55 K V3=1732 and V3 =1 4]
V3 +42 : Brga 1S cqual o
(1) 0.308 1) 0.308
018 (2) 0.318
(3) 2,146
(3) 2.146
(4) 0.064
(4) 0.064
(5) BeT & T Ay
: (5) Not attempted
IKSHR /X3/Page 14 oo oire— |
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Bl

To ARHU)

i 32 2ts Gl
o 4,5, 21 ‘
(2) 3’ 6’ 1, 5: 2 4

32 45 1757 il

i

o o 10l 6. 5. 5=
@ 42163 5

(5) BT A& & e

S

58. wﬁwm@%ﬁ,ﬁeﬂﬁwﬁa@c'ss-
e G & T WY @ 9, T 9K &

@ 7o

@) e

(4) e
leHRlXS/ Page 15

ey

Pyt SN
< T % T ' | SPACE FOR ROUGH WORK

eans 'A 18 brother of 1

86, If AT B m
A — B means 'A ig-z}thc husband ¢
1

A % B means, 1A cis) the father of
; r_—_“, :
[hen P x Q + RojS means °
(1) Q is the husl:féﬁ’d of S
) S is the wife of P
(3) P is the father-of S
] i

(4) Pis the fathepip-law of S
5y Not attempted
(5) ‘Not attemptec,

e}

A set of English Ee&ers is givel
jumbled order. Select the con
numbers so that the letter
‘accordingly will ?Q:Tm a meanil

T O AR HH
12,3 A4 5‘@
() 5 o 14, 552
(2).3,6,1,5.2,4
(3)88, 4, BEIES i6

@4, 2, 1,6, 3>
S48 v

| 57.

(5) Not attemptadw}

- &
Choose the option which is
third term in the same way
term is related to-the first :

Pen : Write "P Spade :

&Y
(1) Dig -

a®
(2) Cut -
(3) Guard N
(4) Crush

(5) Not attempted



60; o

g+ft TeTarTe 4dd &

(1) s Al s €
() Fw udd Arar
{'I)Wﬁwﬁll'ﬁmﬁ'l
(Q)ﬁﬁﬁﬁflafr'{llﬁﬁ!mﬂ'%l
(S)aa?ﬁrﬁﬁél-aﬁrﬁﬂ’tnﬁrﬁw%l
(4_}€5aaﬁﬁ$ﬂf1ﬁamm%i

(5) FaT T & ged

Forewd

61, gaE-gaE qEiaH & A, WA TH @ DI ALE
S 5T @t 7| @ ) GO e |l b ar
o o g= &1 g e fesn A an?
(1) g '
(2) ufvem
(3) Tax-—ufyaH
(4) =for _
(6) Mk i 1 O

62. & E @ ¥ T HeA B e BT
143, 149, 158, 170, 203

(1) 185 T

(2) 190

(3)'192

(4) 182

(5) TR TE T WS

e ol follos
60. Two smtcmeﬂfS__Qg Eg‘:r‘;mg 5
COT;G]I:TS:I(::Djveflni{ they’ geem “‘:z bfe
?:01:!. the commoni‘}sla._]fl__mlogica
which of the conclusloﬁs% .
from the given statefnen ~ :
Statements * All rivers are
All oceans arc
(I) Some rivet
(II) Some mC
rivers.

Conclusions :

(1) Only conclusion 11 follow
(2) Both conclusion T and 11
(3) Neither conclusion I not
(4). Only conclusion 1 follow
(5) Not attempted

61. Early in the morning after !
was standing facing a pole.
the pole fell exactly to Sunm
direction was he facing?

(1) East

(2) West

(3) North-West
(4) South

' (5) Not attempted

62. Find the missing number ir
143, 149, 158, 170,
S(1)ELRS |
(2) 190
(3) 192
(4) 182
(5) Not attempted
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T &1t % s @I / SPACE FOR ROUGH WORK'



twg
1enty
lanca
:Cide
JW(S)

1S.
ins.
eans,

5 are

7S.

Suniy
jow of
Which

ies

p1T0O

urth day of March

63, fdh ad w1 e f TE s:ﬁ?, G % "li‘t;irst.:ay, what was the last
% e B s/ o month in that year?

(1) ghal : @) Friday

(2) qfTEr ) Saturday

(3) TR (3) Sunday

(4) TEIT 4) Thursday

(5) ST T 3 AR (5) Not attempted

] . Six persons xX. Y, Z M, !
row facing towar
- necessarily in the same
between X' and 'N'. 'M' i
s sitting immediate righ
" {he right end. Who are 1k
() Z and Y
@ O and X
(3) O and N
(4) X and N
(5) Not attempted

HT | 5. Ifina code language

z gy ® WVIETNAM' &1
as 'WKFVOCN‘, ther

65. ac T@ B
WKEVOCN!E, i wetu e T % BRITAIN'
aﬁﬁmm&“@m? bcwrittcninmegam
A (1) CTIWCIE | (1) CTIWCIP
@) CTIVBKO | (2) CTIVBKO
@) cTIuCI? | (3) CTIUCIP
(4) CTIWBKO

(4 CTJ WwBKO
(5) Not attempted

LV S



69.

66. P+ el .
g T — .
Uy
(1) FeroTad u
(2) FHETATET sl
8
(3) TR ;_;1
(4) Feme
(5) STX TE am'&
(1) fafa geu g
(2) HET IF9 o
(4) gftaa go (=

G
?ﬁgarr%? Suged

(1)=& Frem s TE; ,i}xaaw L
E| o

(433"1'%&’375(;}1_6_&3}?

r‘1‘\

TEET 92 KN 6 g ﬁlﬂﬁ'ﬂ% %
(])m@'ﬂq'” L:]J\

(3) ST HE F |

() #ar e sy

(5) I9X =& 7 el t_ﬁ' |
y

0. Femr or o walfoe

(1) wd r‘g W?ﬁ%_

G) v

IKSHR / X3 / pa
age 18
W

71, ‘B a1 qET WS ¥

L)

Ok L0
(2) TEEEE &
(3) T (= @]
4) x tD

(ﬂwﬁﬁwﬁ

7 a—é;ﬁ .‘ﬁ qﬁz _@. E}-ﬁ?~

(1) & ,-4
@) g A
oy
3) T o
(4) gz e

(5)3“?&@@

73. Prefee & O S 1 SHYE o

Tw™E 7 v
@) semgeme o T
4) 9

74, “WTRETSES sr= % U*P |
CIEIEE ‘E f‘ﬂi“q
(I)W-ﬂﬂmﬁﬂ%a
(Dwama;ﬁ%m
©) ST shier 3 whafery
(4)Wmﬁw

(S)W?ﬁ%‘“mﬁu“

@) vifs ~
(3) ey

(4) q’ﬁ:ﬂ_tl

) o 1 & =

DR &
: for <o / SPACE FOR RoUGH WORK



R

i R = e B¢ | T
arte @l § 48 B o ?
(1) 43
(2) ¥
(3) S b
(4) 9.58.C LM
(5) waT TE T s
= i
77, a3 ad 2023 H AT { S1-20 I SrEAETr
T W &7 K22
(1) st [
(2) st
(3) sl
@ ik WCI} '
(5) ITT & ﬂ‘rﬂﬁﬂ ‘
(1) e @ S e
O ma .
(5) SUC T T "'—-'ﬂ L S AR
79. ﬁﬁlﬁﬁgﬁ ﬂ' # %‘H}Wﬁ-;{w o~ = = o 9.
e R T
(1) Fieh 1’;"}'
@) Yo e
(3) STT W o,
(4) wAETE
(5) TT EN & AT i
80. Frefafad @ Gifm v .
-1 o 2
ik b :p: LT, %18
B. @i FRMGEm 1L 1919
C.! P 7o aﬁﬁw I 1922
D. SrgedrT ST V. 1930
S e T ferpedl @ WO wEC g

(1) A-1lI, B-1L, C-L, D-1V
(2) A-II, B-1V, C-L, D-1II
@) A-III, B-1, -1, D-1V
(@) AL, B-1, CTV, D-11
(§) Wt =) &1 vEd

e s | 76

Civil Rights Movement
to social discrimination
movement begin?

(1) UK.

(2) FRANCE

(3) GERMANY>

4) USA. |0

(5) Not attempted

1
Which coungry ha:
Presidentship of G-20 !
20237 ~
(1) Canada
(2) Bangladesh
(3) Brazil
(4) South Africa
(5) Not attemﬁg'te:d

How many functional
Indira Gandhi Nationa
Arts (IGNCA)?™
(1):Sevens e

(2) Nine s

(3) Three

(4) Five

(5) Not attempted

Which of the followir
'Sandalwood state of 1
(1) Karnataka "

(2) Meghalaya©

(3) Uttar Pradésh

(4) Chhattisgarh®

(5) Not attempted

Match the following :
List-17 0

A. Rowlatt Satyagrah

B. Civil disobedience
movement ™!

C. Mill workers' strik

D. Non-cooperation
movement

Choose the correct an

below :

(1) A-II, B-IIFC-I, D

(2) A-II, B-IVi.C-I, D

(3) A-III, B-L(CHL, D

(4) A-I, B-I, €1V, D

(5) Not attempted

e
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84. Wwﬁmﬁmmﬁmmmi%ﬁ

82. dwer ¥ frene 4 ufbrr % G AT T ST

83, wtig Trea Frgrer (TAQEEl) @ 3T BRE A

@t
81, 1Wﬁmﬂmﬁmwmglﬁ

et

(1) afyerTs

(2) #eH

(3) arie w2er

(4) &

(5) saT =& & 9

HETEIT &1 & 7
(1) smefear

(2) T

(3) ererThieHr

@) Y

(5) BOT el 31 ATEd

& 57
(1) 1975
(2) 1959
@) 1950
() 1976
(5) =t & = oy

-
i
H

B

SR ORC |

dia was the first one

o m& dI:Y peal. schome’

introdd

(1) Tamil ¥ am

2 Kam

EB; Andhra p;aefesh

(4) Kerala '-_._ T

(5) Not attemE

82. Which is the seco"' :
Asia in terms of arealdsss

(1) Australia

(2) Africa

3) Antarctica

(4) Europe

(5) Not attempted

83. The National School of Drama (NS
set up in which year? ‘H‘.
(A9
(2) 1959
(3)-1950

(5) ‘Not attempte 'f .

e PR

] l"-. 'lv*

3 Prrfifaa § & few am ¥ o W & @ e

84. Non-cooperation movement was ca
- when peasants set fire to a police sta
(1) Chauri Chaura

G @) Champuesn

(3) oTEHEETE (3) Ahmedabad

(;;) sl (4) Kheda .

(5) =T A& & e (5) Not attempted
85. ®wT amgws frd wrdl # Rrfvre ¥ 2 i g}ir:it:msl’hm is divided into hey

(;) iy (1) Five

2 ;ﬁ (2) Seven

(i) (3) Nine

Wi (4) Eight

s gy (5) Not aitempted

RS LA e S
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v . -

B :'].i‘._.‘

mny

e

(3) 90 e
.‘&20 R

_ (3) o ®T

86. Famous cric

(S]Waﬁﬁmm‘e'&

i
st

3 2019 % forg TS mmwr('

T

Wmmwﬁ/sp

keter Ben Stokes
international cricket for whic
(1) New Zealand

2) England

(3) Australia

(4) West Indies

(5) Not attempted

§7. In which year did the Congl

Muslim league sign the Luc
(1) 1909

(1) 75 Days—.
(2) 100 Days
(3) 90 Days |
@) 120 Days |

~ (5) Not attempted

9. Who won the 'Bharat Ratna

2019? GiEe
(1) Pranab Mukherjee

(2) Dr. Bhupen Hazarika
(3) Prof. CNR. Rao

(4) Ustad Bismillah Khan
(5) Not attempted

90. Which bird does not make

(1) Indian robin

(2) Koel

(3) Tailor bird A,
(4) Weaver bird :
(5) Not attempted

ACE FOR ROUGH WORK



91,

speech.

He said, "Nambiar works hard."

(1) He said that Nambiar was working hard,
(2) He said that Nambiar had worked hard.
(3) He said that Nambsiar had been working

hard. 1)

(4) He said that Nambjar worked hard.

(3) Not attempted r~H

Choose the mrrectly &
(1) incradulous
(2) incredulous
(3) incredulus
(4) incradulus
(5) Not attempted ¢

92.

93.

has an error. If there i§ fjo error, your answer

e A

The whole block of %s /

P

Pick out the part- c'Jﬁhe s.entence which

Change the following sentence to indirect

elt word :

R

A

including two shops %re /

B

destroyed in the earthquake.

96. Replace the underline

s

100.

4 Word/phrg

alternative to make a grammag;
&

sentence.
"The ladder will be Collapse if y
wall with both the hands

(1) will have collapsed

(2) will have been p,p,“apsing
(3) No change o0

(4) will collapse ¢

(5) Not attempted, e

Choose the alternative ‘which be
the meaning of the underlined i
Qur hockey team §c0‘red the w
at the eleventh hour,{ ,_

(1) at a crucial tim'e !

(2) before an hour .

(3) at the last mmutc

(4) in the begmnmg,

(5) Not attempted

. Fill in the blank with correct f

Neither of the two men

e (3), shallbes " N
L (4) were g% o)
. (5) Not attempted £33
. o
99. Arrange the following parts of

to make a meaningful sentence
A. 10 understand
B. to many people
C. threatening andseyen impos
D. grammar appears|
(1) BDCA

&0
(2) DACB o
(3) ADBC P
(4) CABD

(5) Not attempted

Find out the antonym, of 'democ

(1) republic omn
(2) delicacy v
(3) monarchy &3

]

(4) popular
(5) Not attempted [

c Al I .-._' F .-. a0
(1) B S il
@) C i § oo
(3) NO eI'tOl' i) . ﬁ_i R :L: 1 *-}le
4) A ‘m n_s;z_ q
NS) Not attempted T 8§
94, Choﬁsmthé almatwﬁ”’whmh best expresses
: . the given sentence in Passive Vmcc
Must we cut this tree?
(1) Must this tree was, out?
(@) Must this free betut?
(3) Must this tree is cut?
(4) Must this 1reg '_'? __fjcut'?
(5) Not dt‘n_ampte o0
95. Find out the S}'Tl‘mymég% the underlined word
in the following sentence.
Colours, like featurcs follow changes of
- emotions. e
(1) movements €2
(2) sentiments N
(3) under-current [
E‘% moments E:‘J'
) Not attempted **
pted __@
T
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